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1) TRADE THEORY

Question No. 1/ Question ID 146 Marks: 2.00
Where is the sweat soldering process applied?
e TieshaT UfaT et @] fpaT ot 87
(A) O Electrical soldering work
g Qes AT SRl
B) O Body repairing workshops (Correct Alternative)
P! UG ISR (Correct Alternative)

(C) O Reworking of ornaments

3MYNUT BT G: I
(D) O Joining of tool bits (Chosen Option)

cd 3R cd ﬁmr ! SISl (Chosen Option)

Question No. 2 / Question ID 151 Marks: 2.00
Which arc welding machine provides better heat distribution in the electrode and the job?

DI T 311 ST AH gATTS 3R e H 9gaR dTd fadR0r UaH HRel 87
(A) O Rectifier set (Correct Alternati

ive

e coreaon@ifglyal iTi YouTube Channel

B) O Enginegeneratorogg(ECtAltern n a I I n“ “ e anne
ECE] i

C) O We[ding_ transformer (Chosen Option)

C (Chosen Option)
(D) O Motor generator set

BENEE

Question No. 3 / Question ID 130 Marks: 2.00
Which part of the combination set is used for marking and measuring angles within an accuracy of 1°?
TS YT BT DI AT HET 1° B Geldhdl & HaR vl &I Fifgd a1 3R A= & o IuieT fasan s g2

(A) O Rule
X
(B) O Centre head
JR S
(C) O Square head (Chosen Option)
W 88 (Chosen Option)
(D) O Protractor head (Correct Alternative)
TS (Correct Alternative)

Question No. 4 / Question ID 98 Marks: 2.00
What is the use of stakes in sheet metal work?
Tfie Acd 9 H WP BT T IUANT 872

(A) O For foldlng shapes
[ 1 WIS & forg




(B) O Rest of work
q1h1 BTH

(C) O For sharpening (Chosen Option)
YR oSl B o g (Chosen Option)
(D) O Supporting piece (Correct Alternative)
1T 41T (Correct Alternative)

Question No. 5/ Question ID 57 Marks: 2.00
Which part of an universal surface gauge is used to set scriber exactly at the required position?
FiaRd TR TS & [h 3R BT IUINT Wh1eeRr B! foepd g R & Je o & g foar ofrdr g2
(A) O Guide pin

S U
(B) O Snug (Chosen Option)
HT (Chosen Option)
(C) O Rocker arm
A TH
(D) O Fine adjustment screw (Correct Alternative)
WIgd USoiRcHe TP (Correct Alternative)

Question No. 6 / Question ID 270 Marks: 2.00
Which type of rake angle makes a slope from the front of the tool towards the back?
5T IR &1 ¥F WA ¢ & I § YIS & 3R gal a1 82
(A) O Side rake angle (Chosen Option)
138 ¥& WA (Chosen Option

)
@0 Seveee - (Glohal iTi YouTube Channel

(C) O Positive top rake angle (Correct Alternative)
Uiferfed eid ¥& WA (Correct Alternative)
(D) O End rake angle
U8 b Wl

Question No. 7 / Question ID 281 Marks: 2.00
What is the purpose of back gear unit in the lathe machine?
Ay 7 A 9% R gfie &1 35xg |1 82
(A) O To reduce the spindle speed (Correct Alternative) (Chosen Option)
Risa ol dis s (Correct Alternative) (Chosen Option)
(B) O To increase the spindle speed
RUsd Wi dgIU
(C) O To quickly change spindle speed
ied Wis o Sed] gaa

(D) O To avoid abnormal impact on spindle
ST IR SR UHTE J g9 & forg

Question No. 8 / Question ID 265 Marks: 2.00
Which diameter is measured using three wire method?
I IR faftr o1 ITART FRb DI AT R HIUT ST 872
(A) O Root diameter (Chosen Option)
Xa¢ Y (Chosen Option)




(B) O Crest diameter
h¥c AN

(C) O Effective diameter (Correct Alternative)
TUTd O™ (Correct Alternative)

(D) O Core diameter
DR TN

Question No. 9 / Question ID 224 Marks: 2.00
What is the name of the fit shown in the figure?

for o f&amu 7Y e &1 A & 87

ouTube Channel

(A) O Clearance fit (Correct Alternative)
Fae Y fbe (Correct Alternative)
(B) O Shrinkage fit

(C) O Transition fit
(D) O Interference fit (Chosen Option)
9 fthe (Chosen Option)

Question No. 10 / Question ID 206 Marks: 2.00
Which indicates the strength of the bond in the grinding wheel?
S TEfET i | §UF o1 dhd B SR Bl 82
(A) O Structure
TR
(B) O Grid
e




(C) O Grade (Correct Alternative) (Chosen Option)
IS (Correct Alternative) (Chosen Option)
(D) O Grain size
U BT DR

Question No. 11 / Question ID 202 Marks: 2.00
Which tool is used to rotate the die nut during the reconditioning of damaged threads?
&TIURT 98 Bt IR & R 813 - B gHH & o8 fohd SUSHRUT &1 FUTNT fobat it 872
(A) O Spanner (Correct Alternative) (Chosen Option)

(Correct Alternative) (Chosen Option)
(B) O Allen key
T &l
(C) O Tap wrench
cufE

(D) © Die holder

Question No. 12 / Question ID 209 Marks: 2.00
What is the use of diamond dresses?
STHS 3 BT T IUTNT 872
A) O Holdlng the grinding wheel (Chosen Option)
oA DI U Sl (Chosen Option)
(B) O Dressing and truing of grinding wheel (Correct Alternative)

‘JIT%'%"T G5 ﬁ gﬁm 3R §§"T (Correct Alternative)

V0 meramaga-er GIODAlITI YouTube Ghannel

D) O Balancmg the grlndlng wheel
oI P! Hferd Bl

Question No. 13 / Question ID 88 Marks: 2.00
What is the spindle movement of one division of thimble with spindle thread of 0.5mm pitch?
0.5 it firg & fRisa 95 & Ory Rnad &t fSdior o) fisa gavic 82
(A) O 0.5mm

0.5 fort
(B) O 0.01 mm (Correct Alternative)
0.01 farft (Correct Alternative)
(C) O 0.001 mm (Chosen Option)
0.001 f&HY (Chosen Option)
(D) O 0.02 mm
0.02 ferst

Question No. 14 / Question ID 172 Marks: 2.00
What is the name of the part marked as 'x' shown in the figure?

o # fezame ) § Rfgd W o1 A @ g




A) O Acetylene valve (Correct Alternative)
?:I'Iﬁ (Correct Alternative)
B) O Oxygen level
RIS BT &R
(C) O Oxygen pipe (Chosen Option)
T UIgy (Chosen Option)

(D) O Oxygen valve
dled

Question No. 15/ Question ID 201
What is the name of the die shown in the figure ?

ferr § ATy 10 ST &7 18 11 872
A) O Clrcular spllt die (Correct Alternative) (Chosen Option)

(Correct Alternative) (Chosen Option)
(B) O Adjustable screw plate die

TSoSd ¥ We e




(C) O Die nut
CIEG
(D) O Half die
HEaSH]

Question No. 16 / Question ID 272 Marks: 2.00
What is the name of the operation shown in the figure?

{21 ¥ &gy 1Y SRR 1 A8 1 82

YouTube Ghannel

(A) O Bevelled shoulder

CERUCRIERY

(B) O Filleted shoulder

fheics Qee

(C) O Square shoulder
TR TMeeT

(D) O Undercut shoulder (Correct Alternative) (Chosen Option)
3ETPHe es (Correct Alternative) (Chosen Option)

Question No. 17 / Question ID 155 Marks: 2.00
What is the name of the PPE shown in the figure?

= 7 fezam T PPE &7 A0 |1 87




(A) O Chipping goggles
[EIEURINISS]
(B) O Welding helmet screen (Chosen Option)
' TP (Chosen Option)
(C) O Welding hand screen (Correct Alternative)
' %3’ Thia (Correct Alternative)
(D) O Portable screen

YouTube Ghannel

Question No. 18 / Question ID 39
Which is a soft skill?
BI-91 Giue [&Bd g7
(A) O Marketing
T e

(B) O Planning (Chosen Option)
AT (Chosen Option)
(C) O Teamwork (Correct Alternative)
(Correct Alternative)
(D) O Copywriting
DRI

Marks: 2.00

Question No. 19 / Question ID 188

Marks: 2.00




Which decides the point angle of the drill?
f&e P Ufge Wet &l B q9 BT 82
(A) O Drill material

~

(B) O Cutting speed

(C) O Size of the drill (Chosen Option)
%ﬁ[ h ISV (Chosen Option)

(D) O Job material (Correct Alternative)
Siig Hefvaa (Correct Alternative)

Question No. 20 / Question ID 86 Marks: 2.00
What is the reading of vernier caliper with inch graduations shown in the figure?

IEERAESCICRINEE] & 1Y iR SR Bt AT w182

ouTube Channel

(A) O 1.459" (Correct Alternative) (Chosen Option)
1.459" (Correct Alternative) (Chosen Option)

(B) O 1.409"
1.409"

(C) O 1.068"
1.068"

(D) O 1.418"
1.418"

Question No. 21 / Question ID 223 Marks: 2.00
Why lime stone is added as flux to the ore in the blast furnace?
IR B9 H 3 T G & &0 H A1 IR o) e Sirdr 872




(A)O To supply oxygen
®I 3MYfef & forg
(B) O To form molten slag (Correct Alternative)
Hiee? AT g1 & ﬁ‘l’G (Correct Alternative)
(C) O To increase the melting point of ore
3OS BT TAID g & g
(D) O To burn the carbon in coke (Chosen Option)
I H PHIe- DI ST & o8 (Chosen Option)

Question No. 22 / Question ID 79 Marks: 2.00
What is the accuracy of a metric outside micrometer?
e MITUTZS HIZHIHIER B Tt T 82
(A) O 0.002 mm
0.002 mm

(B) © 0.001 mm
0.001 mm

(C) O 0.01 mm (Correct Alternative)
0.01 mm (Correct Alternative)
(D) O 0.02 mm (Chosen Option)
0.02 mm (Chosen Option)

Question No. 23 / Question ID 49 Marks: 2.00
Why slots are provided in the slotted angle plate?

Wiics T Wi # Wiie 3 fu 1d 82
(A) O For reducing the weight
wmwosi  (GlODal IT1 YouTube Channel
B) O Forjob clamping (Correct Alternative osen
SiTd FAfRAT & ﬁl‘E (Correct Alternative) (Chosen Option)
(C) O For easy handling
3T gSfeiT & forg
(D) O For better appearance

gk fe@rae & forw

Question No. 24 / Question ID 21 Marks: 2.00
Which process breaks down the materials into organic compounds that are used as manure?
DI I uferar Il B Hef-e DD H ars &t 8 e Iudiv @1 & Tu ¥ fear 9 g2
(A) O Composting (Correct Alternative) (Chosen Option)
T (Correct Alternative) (Chosen Option)
(B) O Landfills
ds fred

) O Recycling

(D) O Burning waste material
EERESEI)

Question No. 25 / Question ID 316 Marks: 2.00
Which formula is used to find weight of raw material?
Fd AT BT IO JTd B BT G HT 67
(A) O Volume x specific weights
Volume x specific weights




(B) O Area x density
Area x density

(C) O Area x specific weight
Area x specific weight

(D) O Volume x density (Correct Alternative) (Chosen Option)
Volume x density (Correct Alternative) (Chosen Option)

Question No. 26 / Question ID 105 Marks: 2.00
Which sheet metal is easier to joint using soldering?
e BT SN Fb o e UTg oY ST S 82
(A) O Galvanised iron sheet (Chosen Option)
3RA e (Chosen Option)
(B) O Tinned plate (Correct Alternative)
feswe (Correct Alternative)
(C) O Lead sheet

(D) O Stainless steel sheet
WY Wi giie

Question No. 27 / Question ID 231 Marks: 2.00
What is the maximum limit of size, if the basic size of the hole is 25 mm and the deviation is + 0.2mm?
e B¢ BT IS ST 25 mm 3R T + 0.2 mm & @ PR ot 3ifAHdw fafte | g2

(A) O 24.8 mm
24.8 mm

(B) O 25.2 mm (Correct Alternativ

ive osen Optign -
oo Semmemasins G ioiaf Tl YouTube Channel

24.08 mm

(D) O 25.02 mm
25.02 mm

Question No. 28 / Question ID 18 Marks: 2.00
Which part of the bevel protractor comes in contact with the inclined surface while measuring?
HITd T ST Wedex Bl DI FT U Fb1 §s Idg b YU H M1dl 572
(A) O Stock

Tidh
(B) O Blade (Correct Alternative) (Chosen Option)
U (Correct Alternative) (Chosen Option)
(C) O Dial
S
(D) O Disc

Question No. 29 / Question ID 70 Marks: 2.00
Which mechanical property of metal has the ability to withstand wear and abrasion?
T & fbg Tifes T & fRorTa 3R u01 Y Yo BT &FdT Bt 27
(A) O Hardness (Correct Alternative) (Chosen Option)
(Correct Alternative) (Chosen Option)
(B) O Brittleness

HIRAT




(C) O Toughness

(D) O Malleability
3{TaTa

Question No. 30 / Question ID 297 Marks: 2.00
What is the purpose of tail stock in lathe?
AY H o Wb BT I T 872
(A) O To hold the carrier
qIEH Bl TH S & 0T
(B) O To hold the job
SId Pl BT B & [T
(C) O To support the lengthy work (Correct Alternative)
e FH BT A FA S ﬁl‘l'{ (Correct Alternative)

(D) © To accommodate the tool post (Chosen Option)

¢ URE o] UM B o il (Chosen Option)

Question No. 31 / Question ID 320 Marks: 2.00
What is the first step of the autonomous maintenance?
A ARG [ Ugdl R TJR?IT%?
(A) O Increase operator knowledge (Correct Alternative)
TR FT T deldT (Correct Alternative)
(B) O Autonomous management (Chosen Option)
WA Y4 (Chosen Option)

00 amre o GlODAlITI YouTube GChannel

(D) O General inspection
Ay Ao

Question No. 32 / Question ID 12 Marks: 2.00
What is the accuracy of protractor head in combination set?

GG AT (HIMFRH Te) T Miedex 38 B URSdl (TFRI) 31 872
(A) O 5°
50
(B)O o
5"
C) o 3
5
(D) O 1° (Correct Alternative) (Chosen Option)
1° (Correct Alternative) (Chosen Option)

Question No. 33 / Question ID 111 Marks: 2.00
What is the name of the part marked as ‘X’ shown in the figure?

o # fezame o X @ fofga R S am | 82




ouTube Channel

(A) O Lower blade
IBESIENES]
(8) O Clamp

(C) O Leverarm

(D) O Upper blade (Correct Alternative) (Chosen Option)
U (Correct Alternative) (Chosen Option)

Question No. 34 / Question ID 47 Marks: 2.00
What is the use of groove provided on the either side of a vee-block?

dl-slep & ! SR feT TN ga HT 1 SN 872
(A) O For appearance
farae &

(B) O For reducing the weight
ol HH B & oY
(C) O Holding clamps (Correct Alternative)
: (Correct Alternative)




(D) O To reduce bearing surface (Chosen Option)
Tqdg &1 HH B & o4 (Chosen Option)

Question No. 35/ Question ID 148 Marks: 2.00
What is the melting point range for silver alloys that is used as spelter in brazing?

SITORT & TWeer & U T YA &1 o aTeht dig! fiy urgafi & fore TTeriss &t |1 &1 57
(A) O 100°C - 200°C (Chosen Option)
100°C - 200°C (Chosen Option)
(B) O 850°C - 1000°C
850°C - 1000°C
(C) O 600°C - 850°C (Correct Alternative)
600°C - 850°C (Correct Alternative)
(D) O 200°C - 400°C
200°C - 400°C

Question No. 36 / Question ID 256 Marks: 2.00
What is the name of the part marked as ‘X’shown in the figure?

olaR 13T STId S Sfegdher & HIT °X BT A 1 872

uTube Ghannel

(A) O Stylus (Correct Alternative) (Chosen Option)
XIS (Correct Alternative) (Chosen Option)
(B) O Scroll
Shid

(C) O Lever
iR




(D) O Pivot

Question No. 37 / Question ID 112 Marks: 2.00
How many basic categories of safety signs are available?
IRe gl ot foaeit gFardt 9foml Sudsd 872
(A) O Four (Correct Alternative) (Chosen Option)
IR (Correct Alternative) (Chosen Option)
(B) O Five
g
(C) O Two

(D) O Three

Question No. 38 / Question ID 287 Marks: 2.00
What is the name of the gauge marked as 'x' shown in the figure?

o A fewe e 'k | g 9 &1 7m0 T g2

Ti YouTube Channel

(A) O Standard wire gauge
'S8 dRR

(B) O Feeler gauge

(C) O Screw pitch gauge (Chosen Option)
h CEEIES] (Chosen Option)
(D) O Centre gauge (Correct Alternative)
' (Correct Alternative)

2) WORKSHOP CALCULATION SCIENCE

Question No. 1/ Question ID 328 Marks: 2.00




What are fundamental units?
STH A HEAHd SHIFAT PH-DIT 67
(A) O Length, Mass, Time (Correct Alternative) (Chosen Option)
14T, SodHT, JHY (Correct Alternative) (Chosen Option)
(B) O Length, Pressure, Volume
(C) O Length, Mass, Volume
qaTS, GHM, ST
(D) O Length, Mass, Area
qaTs, GHH, &%

Question No. 2 / Question ID 345 Marks: 2.00
Which is equal to sin6?

sind frg & SRTaR a1 872
(A) O

(Chosen Option)

(Chosen Option)

(C)O

“"“"tlohal iTi YouTube Channel

(Correct Alternative)

(D) O

Question No. 3 / Question ID 334 Marks: 2.00
What is called mass per unit volume of a substances?
Tt Uerd & oaH Ufd P18 SMad &l 1 Hed |2
(A) O Density (Correct Alternative) (Chosen Option)

Y-dd (Correct Alternative) (Chosen Option)
(B) O Weight

YR
(C) O Volume

SAAd-
(D) O Mass

SUHIT

Question No. 4 / Question ID 343 Marks: 2.00
What is the area of a rectangle, whose length and breadth are 10cm and 8cm respectively?

TS 3ATd &1 &A% 1 81T, fTp! ovallg Ud el HA: 10 T.H. ud 8 4.1t g2




(A) O 85¢cm
85 cm

(B) O 90cm
90 cm

(C)O 75cm
75 cm?

(D) O 80 cm? (Correct Alternative) (Chosen Option)
80 cm? (Correct Alternative) (Chosen Option)

N NN NN

Question No. 5/ Question ID 331 Marks: 2.00
What is the square root of 5297
529 BT TS FT 52
(A) O 23 (Correct Alternative) (Chosen Option)
23 (Correct Alternative) (Chosen Option)

(B) O 33
33

€ o 13
13

(D) O 43
43

Question No. 6 / Question ID 339 Marks: 2.00
What is the boiling point of water?

Ut BT YT T Bl 82 —
WO e Globhal iTi YouTuhe Channel

32°C
(B) O 2120¢C
212°C
(C) O 100°C (Correct Alternative) (Chosen Option)
100°C (Correct Alternative) (Chosen Option)
(D) O o°cC
0°C

3) ENGINEERING DRAWING

Question No. 1/ Question ID 370 Marks: 2.00
Identify the correct aligned system dimension?

el Ifad Red 3| &1 ugaH i




(Correct Alternative)

(Correct Alternative)

bal iTi YouTube Ghannel




(Chosen Option)

(Chosen Option)

Question No. 2 / Question ID 361
|dentify the name of tool?
JUBH BT A UgarH?

(A) O Double cutting shear

S9d BT DR

(B) O Hawk-billed shear
giop-foet 2R

(C) O Cutting plier (Correct Alternative) (Chosen Option)
P aTdT JAT (Correct Alternative) (Chosen Option)

(D) O Auviation shear
I HRAL

Marks: 2.00

Tube Channel

Question No. 3 / Question ID 366
Which single stroke inclined letter 'A' is correct as per IS standard?
IS AM® & AR I AT RTA Kb dichd dex 'A' Tal 87

Marks: 2.00




(Correct Alternative)

(Correct Alternative)

Globhal iTi YouTube GChannel




(Chosen Option)

Globhal iTi YouTube GChannel

(Chosen Option)

Question No. 4 / Question ID 354 Marks: 2.00
|dentify the conventional symbol of material?

A & URURS Udleh Bl ugar?




(A) O Steel

BRG]
(B) O Concrete
LSUIG)

0 Global iTi YouTube GChannel

(D) O Glass (Correct Alternative) (Chosen Option)
®id (Correct Alternative) (Chosen Option)

Question No. 5/ Question ID 355
Identify the conventional symbol of material?

I & URURS Udieh Dl UgaH?

Marks: 2.00




(A) O Glass
CIE!
(B) O Concrete (Correct Alternative)

00 wesameomer - GIONANITI YouTube Channel

Fﬁl'@o[ (Chosen Option)
(D) O Steel
UId

Question No. 6 / Question ID 352
Which title block position is correct as standard practice?

U HFS W & =0 H HIF It e sl fRufa I8t g7
(A) O

Marks: 2.00




(Chosen Option)

ohatiTi YouTube Channel

(Correct Alternative)

(Correct Alternative)

4) EMPLOYABILITY SKILLS

Question No. 1/ Question ID 517 Marks: 2.00
The expansion of LAN is

"LAN" BT faR § -

(A) O Local Area Network (Correct Alternative) (Chosen Option)
Local Area Network (Correct Alternative) (Chosen Option)




(B) O Legal Area Network
Legal Area Network

(C) O Logical Area Network
Logical Area Network

(D) O Local Area Name
Local Area Name

Question No. 2 / Question ID 496 Marks: 2.00
Debit card will have how many digit numbers
Sfoe 1S & fvan 3o & S gt |
(A) O 16 (Correct Alternative)
16 (Correct Alternative)
(B) O 12 (Chosen Option)
12 (Chosen Option)

(C)O 18
18

(D) O 14
14

Question No. 3 / Question ID 382 Marks: 2.00
Hard Skill

(A) O 60 WPM typing speed (Correct Alternative)
60 WPM TSt TS (Correct Alternative)

(B) O time management

HY YeY— =

(C) O quick learner (Chosen Option)alnhal ITI vn“T“he channel
@ﬁaﬁf&ﬂﬁﬁ(Chosen Option)

(D) O spoken English

Question No. 4 / Question ID 505 Marks: 2.00
Computer network that spans a regional, national or global area is called
SR Acdd, S T &1, ST A1 A & b el BIdT 8, S ..oooovo... EHEICR
(A) O LAN
LAN
(B) O MAN
MAN
(C) O WAN (Correct Alternative) (Chosen Option)
WAN (Correct Alternative) (Chosen Option)
(D) O CAN
CAN

Question No. 5/ Question ID 473 Marks: 2.00
Which one is considered to be a good communication?
DI I IS ST TAR AT ST 872
(A) O Sender attacks receiver
U5 D1 REaR R gaal oAl
(B) O Message is ambiguous (Chosen Option)
HeW 3RV @ (Chosen Option)




(C) O Sender is positive towards receiver (Correct Alternative)
& Ufd UvP IHRTHAP @ (Correct Alternative)
(D) O Receiver doesn't listen to sender

Tl S &1 Tal AT

Question No. 6 / Question ID 481 Marks: 2.00
Which one is the latest and effective means of modern communication?
MY TR BT TdHTH 3R THIE TIeH S 1 82
(A) O Electronic mail (Correct Alternative) (Chosen Option)
aq (Correct Alternative) (Chosen Option)
(B) O Message through TV
&iat & TTeEd ¥ o™

(C) O Fax

(D) O Postal mail
S Od

Question No. 7 / Question ID 421 Marks: 2.00
Which one of the following is a good office etiquette?
fafaRed & 9 &F 91 Ue 33 ey RIvER 82
(A) O One should dress formally (Correct Alternative) (Chosen Option)
Udh P Sfu=Tie =U | NN Ts’-'-Fﬂ T:IT%E{ (Correct Alternative) (Chosen Option)

(B) O One should have fancy mobile ring tone

Teh o U Tl sl K1 @ BT =1fey

o0 qurste ez oglghal iTi YouTube Channel

(D) O One should not be punctual to work

PHTH & [T THT &1 UTeic ol o1 ANQT

Question No. 8 / Question ID 427 Marks: 2.00
When someone says 'Thank you' we should reply and say .
SId B3 'Thank you (Y=IaTE) HadT § <l 84 SIdTd &1 a1feT 3R ST TR
(A) O How are you?

310 B4 82
(B) O You're welcome. (Correct Alternative)
STHRT HRTd % (Correct Alternative)
(C) O Thank you. (Chosen Option)
AT (Chosen Option)
(D) O Bye-bye

SR-STR

Question No. 9 / Question ID 492 Marks: 2.00
Same situation people should be treated in the same way
T o YT aTel Tl o 1Y Ueh oIl a8 s ST amfeg. . |
(A) O society (Chosen Option)
HHIS (Chosen Option)
(B) O status




(C) O equality (Correct Alternative)
HHTAT (Correct Alternative)
(D) O unity
Uohdl

Question No. 10 / Question ID 536 Marks: 2.00
Which one is a web browser?

P TP I9 SIS 872
(A) O Outlook express

HITY THIH
(B) O Face book (Chosen Option)

BAYP (Chosen Option)

(C)O H\f)t mail

(D) O Internet explorer (Correct Alternative)
(Correct Alternative)

Question No. 11 / Question ID 462 Marks: 2.00
Listening to Railway or Flight announcement, teacher’s lecture comes under

AT T IS B OV BT AT, RIef® BT AR ... & 3ffd emar g
(A) O therapeutic Iistenjng

(B) O critical listening
fopfeepa ferafm

0 s e oriaiON Al ITi YouTuhe Channel

(D) O comprehensive listening (Correct Alternative)

FIBrefRTa oA (Correct Alternative)

Question No. 12 / Question ID 570 Marks: 2.00
What does 'A' in SMART stand for?
SMART & 'A' &1 &1 37 g7
(A) O Action (Chosen Option)
Action (Chosen Option)
(B) O Ambitious
Ambitious
(C) O Achievable (Correct Alternative)
Achievable (Correct Alternative)

(D) O Awareness
Awareness

Question No. 13 / Question ID 528 Marks: 2.00
What is the expansion of “FYI” SMS?
"FYI" THUHEY &1 faedR a1 87
(A) O For Your Identification
For Your Identification
(B) O For Your Internet
For Your Internet

(C) O For Your Innocence
For Your Innocence




(D) O For Your Information (Correct Alternative) (Chosen Option)
For Your Information (Correct Alternative) (Chosen Option)

Question No. 14 / Question ID 457 Marks: 2.00
Gesture “biting nails” shows
"TRGH BT TE BTA-HTG.......oeoeee. TMAT S -
(A) O insecurity (Correct Alternative)
(Correct Alternative)

(B) O confidence
NG|
(C) O boredom

(D) O defensiveness (Chosen Option)
(Chosen Option)

Question No. 15/ Question ID 406 Marks: 2.00
Pronunciation refers to .
JERU P Y Hd Pl
(A) O punctuation (Chosen Option)
fag (Chosen Option)

(B) O diphthong

YR R
(C) O production of sound (Correct Alternative)

A HT TG (Correct Alternative)

0 g Global iTi YouTube Channe)

Question No. 16 / Question ID 556 Marks: 2.00
In SWOT analysis which pair is helpful?
SWOT fazawur # i It St Igrae 872
(A) O Strengths, Weakness
dThd, HHGIRI
(B) O Strengths, Opportunities (Correct Alternative) (Chosen Option)
'\‘I‘I’H?ﬁ, 3[dHR (Correct Alternative) (Chosen Option)
(C) O Threats, Weakness
YT, HHGIRI
(D) O Threats, Opportunities
YD, TR

Question No. 17 / Question ID 439 Marks: 2.00
Which of these is a sign of good stress?
3 19 BT Jobd 90 I I IT 8?2




(A) O It prevents you from pursuing your goals.
g HTTDH] 3T AL BT UIST B 4 bl 5|
(B) O Does not lead to long-term tension, loss of sleep. (Correct Alternative) (Chosen Option)
W gAY dF d1d, Hig &t o :ﬁﬂ ﬁ?ﬁ %I (Correct Alternative) (Chosen Option)
(C) O Makes you physically ill or causes pain.
¥ Y SHR ST § 1 &6 BT HRUI ST 6|
(D) O It makes you doubt yourself.
g 3MUP! Ja IR & &l g

Question No. 18 / Question ID 500 Marks: 2.00
1 Byte =
1dlgc =............

(A) O 8 bits (Correct Alternative)
8 ﬁ?\‘r (Correct Alternative)
(B) O 4 bits
4 focH
(C) O 16 bits
16 facq
(D) O 2 bits (Chosen Option)
2 %IW (Chosen Option)

Question No. 19 / Question ID 378 Marks: 2.00
Identify the improper term

SR UE PR ol -
)0 dpoluon Global iTi YouTuhe Channel

(B) O sound pollution (Chosen Option)
&df UGHUT (Chosen Option)

(C) O water pollution
ol el UgHUT

(D) O green pollution (Correct Alternative)
Eﬁ_d YgUUT (Correct Alternative)

Question No. 20 / Question ID 545 Marks: 2.00
Which shortcut key is used to underline the main headings of your resume?
3D IgH & T X! B Y@iford A & AT fhy Wicdhe Foft 1 IUNT fohar Sirar g2
(A) O Ctrl+B
Ctrl +B
(B) O Ctrl+L
Ctrl + L
(C) O Ctrl + X (Chosen Option)
Ctrl + X (Chosen Option)
(D) O Ctrl + U (Correct Alternative)
Ctrl + U (Correct Alternative)

Question No. 21 / Question ID 404 Marks: 2.00
Fill in the correct question word. “ is the speaker at the function?”
Tl UY Ueq R is the speaker at the function?”
(A) O When

When




(B) O Why
Why

(C) O Who (Correct Alternative)
Who (Correct Alternative)

(D) O What (Chosen Option)
What (Chosen Option)

Question No. 22 / Question ID 573 Marks: 2.00
Which of the following is not true?
$TH 9 I |1 9l el 62
(A) O Ask the questions with a genuine focus on understanding your customer in order to meet their
needs

30 UTgh] Dl SRl Dl T R b ol 36 U W aRAfddh & o 1Y T Yd
(B) O Establish trust by focusing on customer needs and not on your product.

G| DI TRl IR T digd HIdb YN JTUT B A b 30 Iarg W
(C) O Ask each customer the same set of questions. (Correct Alternative)

Ud® ITeh | G919 Uy 1]\%' | (Correct Alternative)

(D) O Only ask relevant questions (Chosen Option)
$Hdd URI® U4 G (Chosen Option)

Question No. 23 / Question ID 371 Marks: 2.00
To be in a job or work is
THA A HFET GG ...
(A) O Employ (Correct Alternative) (Chosen Option
(Correct Alternative) ﬁ]osen Option'

(B) O Skill

iTi YouTube Channel

(C) O Aptitude
BRG]

(D) O Knowledge
Sﬂ:{

Question No. 24 / Question ID 583 Marks: 2.00
Which of the following websites are not popular for finding jobs?
frafafed & § o It daurze Aie< Wien & e disi 781 82
(A) O Naukri.com (Chosen Option)
Naukri.com (Chosen Option)
(B) O Sheroes.com
Sheroes.com
(C) O Twitter.com (Correct Alternative)
Twitter.com (Correct Alternative)

(D) O LinkedIn.com
LinkedIn.com

Question No. 25 / Question ID 394 Marks: 2.00
Fill in the blank with comparative adjective. “Your pencil is than mine”
Wﬁﬁw%m%{ﬁﬂﬁ@ﬂ? W | “Your pencil is than mine”

(A) O Dblunt (Chosen Option)
blunt (Chosen Option)
(B) O thick
thick




(C) O sharper (Correct Alternative)
sharper (Correct Alternative)

(D) O sharp
sharp

Global iTi YouTube GChannel



